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What is the role of osmosis in food
preservation ?

(A) It dehydrates microbial cells
(B) It dehydrates the food to be

preserved
(®) Both (A) and (B)
(D) Neither (A) nor (B)

For making jam which of the following is
needed ?

(A) Pectin
B) Acid
(®) Sugar

D) All of the above

"High tea” means having tea while sitting on
a high-backed chair at a table full of plated

items. This term is originated from which

country ?

(A) India

(8) Britain
© Australia
D) Turkey

Which menu type is followed in a mess ?
(A) Table d'Hote menu

(B) A La Carte menu

(€ Cyclic menu

(D) Fixed menu
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Which of the following organisation has

played a pioneering role in ushering
Green Revolution ?

(A)  ICAR
(B)  ICMR
(C)  UNESCO
D)  FAO

What is the major disadvantage of written
communication ?

(A) It is a permanent means of
communication

(B) It provides ready records and
references

(C) It is neither precise nor explicit

(D) It is time-consuming and
expensive

Which of the following is not an oral
communication ?

(A) Lectures

(B) Telephone

(C)  Conferences
(D)  Kinetics

In the communication process, who is

known as encoder ?

(A) Sender
(B)  Receiver
(C)  Channel
(D)  Medium
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Schedule is used for which type of
respondent ?

(A) Educated

(B) Uneducated

(C)  Both (A) and (B)
(D) None of the above

The value whose frequency is highest in

a given series is :

(A) Mean
(B) Median
(®)) Mode

(D) None of these

What does not come under the quantitative
method ?

(A) Social Survey

(B) Numeric

(C) Personal Study

(D) Comparative

Which of the following type of food leaves
minimal amount of residue in the
gastrointestinal tract ?

(A) Soft diet

(B) Clear liquid diet

© Light diet

(D) Roughage

One gram alcohol gives how much

Calories ?

(A) 9 Kcal
(B) 7 Kcal
©) 4 Kcal
(D) 5 Kcal
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14.  Kohlberg's stages of development are
~ related to which type of development of
children ?
(A)  Emotional Development
(B)  Cognitive Development
(C)  Moral Development
(D) Physical Development
15.  According to Piaget's stages of cognitive
development, at which age children
passes through the sensorimotor stage ?
(A) 0-2years
(B) 2 -7 years
(C) 7 - 11 years
(D) 11 - 14 years

16.  What is the purpose of developmental
task ?

(A) They act as guidelines
(B) They serve as motivating force

(C) They tell the parents and teachers

what will be expected of children
in future

(D) All of the above
17. In management process, which of the

following sequence is correct ?

(A) Planning-Controlling-Organizing-
Evaluating

(B)  Organizing-Planning-Controlling-
Evaluating

©) Planning-Organizing-Controlling-
Evaluating

(D) None of the above
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In presence of oxygen, pyruvic acid 18

enters into Krebs cycle to provide energy.
What happens to pyruvic acid when
oxygen is lacking ?

(A) It forms Glucose

(B) It forms Lactic acid

©) None of the above

(D) Both (A) and (B) are true

When carbohydrate and protein are  19.

cooked together, it gives a beautiful
brown colour to the food. What is this
process called ?

(A) Millard Reaction

(B) Caramelization

(C) Gelatinization

(D) Fermentation

Which of the following nutrients is 20.

composed of carbon, hydrogen, oxygen

and nitrogen ?

(A) Protein

(B) Carbohydrate
€ Fat

(D) Vitamins

Ovulation takes place on which day of 21.
menstrual cycle ?
(A)  24™ day

(B) 15" day
(C) 14" day
(D) 7" day
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Z2. What is the use of Pin and thread
method ?
{A) To make a floor plan
(8) For motion analysis
(Cy  For making a design
(D)  None of the above
23.  Who is the Founder of Motion Study ?
{A)  Taylor and Francis
(B}  Nickell and Dorsey
{C) Gross and Crandall
D) Frank B, Gilberth
24, What should be the height of kitchen
counter ?
(A}  45-4Binches
(8) 34 - 36 inthes
{C)  BO-85inches
{D} 50 - 55 inthes
25.  What is the recommended leve! of light
tor sewing activity ?
() 1000 - 2000 fux
B) 500 - 1000 lux
{C}  50- 150 dux
(D) 250 - 500 tux
26. A survey done (o know Ihe reasons for
diagnosing 2 problem is Known as.
{A) Secondary Analysis survey
(B)  Pre duector suivey
(C) Faisification survey
(D)  Diagnostic survey
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27. Anganwadi services comes under which
government scheme ?
(A) ICMR
(B) ICDS
(C) ICAR
(D) UNICEF
28. Angular stomatitis is caused by the
deficiency of which vitamin ?
(A) Vitamin B,
(B) Vitamin B,
(®)] Vitamin C
(D) Vitamin K
29. Journal that is published two times in a
month is known as :
(A) Bi-monthly Journal
(B) Semi-monthly Journal
€ Quarterly Journal
D) Both (A) and (B)
30. What is the first step in conducting
research ?
(A) Problem Identification
(B) Preliminary search of information
©) Designing the Research Project
D) Collecting Data
31. How can cloned journal be identified ?
(A) By Joumnal name
(B) By Journal ISSN
€) By language of publication
(D) By verifying all the details from UGC
care list/Scopus
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Which of the following is not true regarding

high fiber diet ?

(A)  Increased fiber intake should
come from a variety of food
sources

(B) Consumption of adequate amount
of liquid is necessary with such
diet

(C) It is given to the person with
gastrointestinal problem

(D) Itis given to the person with renal
problem

Moon face is the identifying feature of

which disease ?

(A) Kwashiorkor

(B) Marasmus

(€) Pellagra

(D) Scurvy

Which of the following is restricted in

celiac disease ?

(A)  Semolina
(B)  Rice
(€) Sago

(D) Buckwheat

Which hormone is known as hunger
hormone ?

(A) Adrenaline

(B) Thyroxine

(C) Ghrelin

(D) Leptin
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36. Sukanya Samriddhi Yojana was launched  36.
in which year ?
(A) 2015
(B) 2016
©) 2017
D) 2018

37. Panchayati Raj system first started in ~ 37.
which state ?
(A) Gujarat
(B) Bihar
(®)) Haryana
(D) Rajasthan

38. In which of the following Sari, mythological ~ 38.
scenes are depicted on the Pallu ?
(A) Jamdani
(B) Banarasi
(&) Baluchari
(D) Pochampally

39.  lkat technique of Odisha is known as : 39.
(A) Patola
(B) Pochampally
©) Bandhas
(D) Bandhani

40. Geometrical motifs are used in which of  40.
the following embroidery ?
(A) Kashida
(B) Kantha
(C) Phulkari
(D) Chikankari
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Which of the following is essential fatty
acid ?

(A) Alpha-linolenic acid

(B) Linoleic acid

(C)  Arachidonic acid

(D) All of the above

Calcium requirement for a woman is 1000
mg per day. What should be the calcium
requirement if she is pregnant ?

(A) 1000 mgl/day
(B) 1200 mg/day
(C) 1500 mg/day
D) 1800 mg/day

The nucleic acid that creates difference
between DNA and RNA is :

(A) Adenine
(B) Thymine
(C)  Cytosine
(D)  Guanine

According to AHA, what should be the
ratio of SFA, MUFA and PUFA in diet ?

Ay  1:1:1
(B) 15321
(€ 1zikS
oy 3:1:1

Which of the following technique is not the
direct technique of assessing nutritional
status ?

(A) Anthropometric measurement
(B) Biochemical examination

(03] Clinical examination

(D) Survey of Mortality Rate
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46.  What does visual merchandizing mean ? 46,
(A) Selling the products online
(B) Displaying products in a way that
makes them appealing and
desirable
(€ Selling eye related products
(D) None of the above
47. Mannequins that resemble to a famous 47.
model or a movie star is known as :
(A) Abstract Mannequins
(B) Realistic Mannequins
(©) Semi-abstract Mannequins
(D) Semi Realistic Mannequins
48. Which type of food cannot be preserved 48,
by freezing ?
(A) Vegetables
(B) Fruits
(©) Cereal
(D) Meat products
49.  Which preservative is used in making 49,
sauces, jams, jellies, pickles and fruit
juices ?
(A) Sorbic acid
(B)  Sodium benzoate
© Acetic acid
(D) Citric acid
S0. Which enzyme is used to prepare fruitjuices  50.
from hard and pulpy fruits like guava and
banana ?
(A) Lipolytic Enzyme
(B)  Pectinolytic Enzyme
©  Proteolytic Enzyme
D)  Ligases
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